

# REPUBLIC OF THE PHILIPPINES Department Of Health



#### National Center for Mental Health

# LIST OF ITEMS FOR PUBLIC BIDDING MEDICAL SUPPLIES (ADDITIONAL 2) CY 2022

Item No.		ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
Medical S	upplies (Additio	naí 2)	25001/		THE STATE OF THE PARTY OF THE P	A SECTION AND COMMENT
1	MS A2 - 001	Alcohol, Isopropyl 70% (atleast 3.785L/gallon) . (with atleast 24 months expiration).	2,710	gallon	300.00	813,000.00
2	MS A2 - 002	Aneroid Sphygmomanometer with Stethoscope, ADULT - Latex Free with single tube. Range: 0-300mmHg. Precision valve with slow deflation rate. Extra large inflation bulb. Gauge with internal diameter of 65mm. Velcro cuff, for adults, washable made in nylon with ring. With Certificate of Calibration (PORTABLE)	110	рс	1,300.00	143,000.00
3	MS A2 - 003	Blood Glucose Test Strips with Strip Ejector, for in vitro diagnostic use, no coding, individually foil wrapped strips, small blood sample required atleast (0.5µl), 5 second test time, 5 second blood sample reapplication time, top or end fill with visual confirmation, fill trigger ensures test starts only when sufficient blood sample has been applied. Must be compatible to existing Glucometer. (with at least 24 months expiration).		piece	11.00	29,700.00
4	MS A2 - 004	Blood Transfusion Set, sterilized by EO gas, non-toxic, no heavy metal & pyrogen free w/ vein needle G.18, double chamber w/ large mesh filter minimizing platelet loss & hemolysis, flexible table, individualy packed into plastic pouch. (with at least 24 months expiration).	260	рс	50.00	13,000.00
5	MS A2 - 005	Boufant Cap, Single Elastic, Strip type, disposable	17,360	piece	2.20	38,192.00
6	MS A2 - 006	Disposable ECG Electrodes, ADULT, 36x45mm (oval) snap connection, foam support 1mm thick, hypoallergenic medical grade adhesive, pre-gelled that is not sticky to skin and with silver chloride stainless steel stud and defibrillation resistant. (with atleast 24 months expiration).	950	piece	36.00	34,200.00
7	MS A2 - 007	Foley Catheter 2-way, Fr.16, latex pyrogen free, disposable, sterilized by EO gas, needle free (with atleast 24 months expiration).	270	piece	32.00	8,640.00
8		Gloves, Latex or Nitrile examination, disposable, powder free, non-sterile, ambidextrous, single use, size SMALL (with at least 24 months expiration)	116,000	piece	5.00	580,000.00
9	MS A2 - 009	Gloves, Latex or Nitrile examination, disposable, powder free, non-sterile, ambidextrous, single use, size MEDIUM (with at least 24 months expiration)	159,000	piece	5.00	795,000.00
10	MS A2 - 010	Gloves, Latex or Nitrile examination, disposable, powder free, non-sterile, ambidextrous, single use, size LARGE (with at least 24 months expiration)	155,500	piece	5.00	777,500.00

"There is no Health without Mental Health"







Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
11	MS A2 - 011	Gloves, 7.0 size, sterile, powder free, thick and elastic, not easily tore. (with at least 24 months expiration).	2,700	piece	19.50	52,650.00
12	MS A2 - 012	KN95, 5 layer Respirator Mask, single, individually packed, sterile, earloop type, with high filtration efficiency of > 95%.	39,300	piece	52.00	2,043,600.00
13	MS A2 - 013	Mask, surgical disposable, 3 PLY, Elastic without glass fibres, hypoallergenic, very low resistance to breathing, nose baradaptable, high filtration capacity, perfect fitting, EAR-LOOP	231,900	piece	9.00	2,087,100.00
14	MS A2 - 014	MEDICAL OXYGEN REFILL Standard size, 5.66 cu.m, Pressure gauge of 1,880 psi at least 50lbs. (No delivery charge and service for the use of equipment and gas containers, and for other services.	1,615	piece	450.00	726,750.00
15	MS A2 - 015	Sharp Disposal Container, double lid, with hermetic lock seal, 30 Liters	30	piece	900.00	27,000.00
16	MS A2 - 016	Skin Stapler wire, taller and sharper, pre-cock function, 35 staple count, sterile with free remover (with atleast 24 months expiration).	35	piece	321.00	11,235.00
17	MS A2 - 017	Surgical Gown (FREE SIZE), disposable, non- woven fabric, anti-water, anti-blood, anti- alcohol, anti-static, light color only.	49,750	piece	70.00	3,482,500.00
18	MS A2 - 018	Surgical Shoe Cover, disposable, non-woven fabric, anti-water, anti-blood, anti-alcohol, anti-static.	57,465	piece	4.00	229,860.00
19	MS A2 - 019	Syringes, disposable, 1cc, with needle G.26 x1/2 inch, slip tip, sterilized by EO gas, nontoxic, non-heavy metal and pyrogen-free, no airleakage, needle must be sharp and sturdy. (with atleast 24 months expiration).	3,000	piece	3.50	10,500.00
20	MS A2 - 020	THERMAL PAPER, 3 CHANNELS 80mm x 20mm	215	piece	100.00	21,500.00
21	MS A2 - 021	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 6 (9cm x 15cm) P: 1 3/4 x 4 (4.5cm x 10cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	35	piece	200.00	7,000.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
22	MS A2 - 022	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 8 (10cm x 20cm) P: 1 3/4 x 6 (4.5cm x 15cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	30	piece	247.00	7,410.00
23	MS A2 - 023	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 10 (10cm x 25cm) P: 1 3/4 x 8 (4.5cm x 20cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	60	piece	293.00	17,580.00
24	MS A2 - 024	Underpads Super Dry, 60x90cm, disposable. (with atleast 24 months expiration).	2,500	piece	29.00	72,500.00
25	MS A2 - 025	Suction Poole Drain, non-toxic, non-pyrogenic, sterilized by EO gas, with 210cm universal connecting tube (with atleast 24 months expiration).	80	piece	185.00	14,800.00
26	MS A2 - 026	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 1, 90cm, round needle, 1/2 circle, 37mm / 40mm (with atleast 18 to 24 months expiration).	36	piece	450.00	16,200.00
27	MS A2 - 027	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 2/0, 90cm, round needle, 1/2 circle, 37mm / 40mm (with atleast 24 months expiration).	36	piece	450.00	16,200.00
28	MS A2 - 028	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 3/0, 90cm, round needle, 1/2 circle, 37mm / 40mm (with atleast 24 months expiration).	36	piece	450.00	16,200.00
29	MS A2 - 029	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 2/0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 37mm / 40mm (with atleast 24 months expiration).	48	piece	480.00	23,040.00
30	MS A2 - 030	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 3/0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 24mm / 26mm (with atleast 24 months expiration).	48	piece	450.00	21,600.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
31	MS A2 - 031	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 4/0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 24mm / 26mm / 40mm (with at least 24 months expiration).	48	piece	450.00	21,600.00
32	MS A2 - 032	Scalpel Blade #10 with plastic handle, single use (with at least 24 months expiration).	100	piece	75.00	7,500.00
33	MS A2 - 033	Scalpel Blade #20 with plastic handle, single use (with at least 24 months expiration).	150	piece	75.00	11,250.00
34	MS A2 - 034	Silk braided, non asorbable, size 0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	36	piece	226.00	8,136.00
35	MS A2 - 035	Silk braided, non asorbable, size 1, 60cm- 75cm, 12-15 threads, no needles (with atleast 24 months expiration).	36	piece	224.00	8,064.00
36	MS A2 - 036	Silk braided, non asorbable, size 2/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	48	piece	227.50	10,920.00
37	MS A2 - 037	Silk braided, non asorbable, size 3/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	48	piece	220.00	10,560.00
38	MS A2 - 038	Silk braided, non asorbable, size 4/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	24	piece	205.00	4,920.00
39	MS A2 - 039	Silk braided, non asorbable, size 3/0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 24mm / 26mm (with atleast 24 months expiration).	48	piece	190.00	9,120.00
40	MS A2 - 040	Silk braided, non asorbable, size 2/0, 75cm, round needle, 1/2 circle, 26mm / 37mm(with atleast 24 months expiration).	48	piece	230.00	11,040.00
41	MS A2 - 041	Silk braided, non asorbable, size 3/0, 75cm, round needle, 1/2 circle, 26mm / 37mm (with atleast 24 months expiration).	48	piece	205.00	9,840.00
42	MS A2 - 042	Wound Drainage System - Silicone 100-150mL reservoir capacity, with clear calibration and built-in clip hanger, NRV (Non return valve) system, 720mm Silicone connecting tube with radio opaque line, 110mmHg Negative pressure, with or without Trocar needle. (with at least24 months expiration).	40	piece	1,200.00	48,000.00
43	MS A2 - 043	Diaper, disposable, Large, Adult (for the use of Pavilion 8)	111,600	piece	25.00	2,790,000.00
44	MS A2 - 044	Arm Sling - adjustable shoulder strap allows for a custome comfortable fit. Supports left or right arm. 70% polyester, latex free.	50	piece	72.00	3,600.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
45	MS A2 - 045	Abdominal Binder	75	piece	128.00	9,600.00
46	MS A2 - 046	Adhesive Bandage, flexible fabric and strong adhesive, all one size, 1x3" (100pcs/box)	58	box	360.00	20,880.00
47	MS A2 - 047	Colostomy bag with wafer 57mm	200	piece	480.00	96,000.00
48	MS A2 - 048	Colostomy bag with wafer 70mm	386	piece	670.00	258,620.00
49	MS A2 - 049	Duoderm Patch Extra Thin dressing 8x8 inches / 20x20cm	12	piece	1,700.00	20,400.00
50	MS A2 - 050	Endotracheal tube 2.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, radio-opaque (with at least 24 months expiration)	10	piece	90.00	900.00
51	MS A2 - 051	Endotracheal tube 2.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, radio-opaque (with at least 24 months expiration)	10	piece	90.00	900.00
52	MS A2 - 052	Endotracheal tube 3.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, radio-opaque (with at least 24 months expiration)	10	piece	90.00	900.00
53	MS A2 - 053	Endotracheal tube 4.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, radio-opaque (with at least 24 months expiration)	10	piece	90.00	900.00
54	MS A2 - 054	Endotracheal tube 6.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, radio-opaque (with at least 24 months expiration)	10	piece	90.00	900.00
55	MS A2 - 055	Foley Catheter, Fr.5, pyrogen free, disposable, sterilized by EO gas (with at least 24 months expiration)	100	piece	160.00	16,000.00
56	MS A2 - 056	Isopropanol, Benzalkonium Chloride, 1,000ml - Skin, wound and operative site disinfectant. Skin antisepsis before injections, punctures, etc (with at least 24 months expiration	50	bottle	2,600.00	130,000.00
57	MS A2 - 057	Nephrostomy Catheter kit, with safety string lock, Fr.14	8	piece	9,900.00	79,200.00
58	MS A2 - 058	Orthoplast Skin Traction with adhesive plaster, good quality and single packed (with at least 24 months expiration)	50	kit	750.00	37,500.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
59	MS A2 - 059	Straight Catheter (Nelaton Catheter) transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic, Fr.5 (with at least 24 months expiration)	41	piece	37.00	1,517.00
60	MS A2 - 060	Zinc Oxide Adhesive Plaster, 5 inches, with spool and snap ring, 7.5cm x 5m, 100% adhesive (with at least 24 months expiration)	20	roll	700.00	14,000.00
61	MS A2 - 061	Pre-heparinized arterial blood gas 3cc syringe	960	piece	100.00	96,000.00
62	MS A2 - 062	Adult full body convective warming blanket	16	piece	2,000.00	32,000.00
63	MS A2 - 063	Pediatric Full body convective warming blanket	15	piece	2,000.00	30,000.00
64	MS A2 - 064	Anesthesia Set Flex, latex free, adult, breathing circuit with fitting mask - disposable anesthesia set consisting of 2 hose, connector, fastening ring 2 latex free breathing bag	11	roll	1,400.00	15,400.00
65	MS A2 - 065	Anesthesia Set Flex, latex free - pedia, breathing circuit with fitting mask - disposable pediatric anesthesia set, consisting of 2 hoses (diameter 15mm), y-hose (diameter 15mm), connector, fastening ring, 1L latex free, breathing bag	2	roll	1,400.00	2,800.00
66	MS A2 - 066	Anesthesia Breathing circuit, adult (with at least 24 months expiration)	6	piece	140.00	840.00
67	MS A2 - 067	Anesthesia breathing circuit, pedia (with at least 24 months expiration)	4	piece	140.00	560.00
68	MS A2 - 068	Anesthesia tubing - jackson-reese (with at least 24 months expiration)	2	piece	140.00	280.00
69	MS A2 - 069	Antibiotic Mesh, 10cm x 10cm (with at least 24 months expiration)	12	piece	295.00	3,540.00
70	MS A2 - 070	Antiseptic surgical scrub solution, non-ionic surfactants. Has a pleasant perfume, and tartrazine as colours. Easy to wash off. Can be used for neonates and thyroid patients. Not degraded due to bioburden. Effective in presence of blood, seriuous fluids, sweat etc. Non-staining and skin friendly. (5 liters / gallon) (with at least 12 months expiration)	8	gallon	1,250.00	10,000.00
71	MS A2 - 071	Chest tube catheter / Thoracic Catheter, Fr.20, thermosensitive tube, minimizing trauma without tension and compression, clear and transparent catheter, smooth catheter eye transition, sterile (with at least 24 months expiration)	10	piece	600.00	6,000.00
72	MS A2 - 072	Chest tube thoracostomy bottle with glass tube and rubber cock (CTT Bottle) with 3ft rubber hose tubing	40	piece	1,250.00	50,000.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
73	MS A2 - 073	Compact Extendable (.5 inches), 59 inches breathing system with luer elbow pediatric circuit (with at least 24 months expiration)	4	piece	810.00	3,240.00
74	MS A2 - 074	Compact Extendable (.8 inches), 6ft, breathing system, 2L bag and 4ft extra arm, 35's/box (with at least 24 months expiration)	5	4	1,950.00	9,750.00
75	MS A2 - 075	Epidural Set, Epidural Catheter, G.18, for continous epidural anesthesia with Tuohy tape needle, catheter (closed tip, 3 lateral eyes), with connector, epidural flat filter and LOR syringe, filter 0.2 micron, Loss-of-Resistance syringe - Luer Slip (with at least 24 months expiration)	30	kit	670.00	20,100.00
76	MS A2 - 076	Extension tube with male luer lock adapter, with roller clamp (with at least 24 months expiration)	30	piece	63.00	1,890.00
77	MS A2 - 077	Liquid Handrub antiseptic, alcoholic skin disinfectant, bactericidal, fungicidal and vircucidal, skin emollients, 1 liter / bottle (with at least 24 months expiration)	50	bottle	1,450.00	72,500.00
78	MS A2 - 078	Silk braided, non-absorbable, size 4.0, 75cm cutting needle, 1/2 circle / 3/8 circle, 24mm / 26mm (with at least 24 months expiration)	48	piece	290.00	13,920.00
79	MS A2 - 079	Sterile Water, 100ml (with at least 24 months expiration)	102	piece	150.00	15,300.00
80	MS A2 - 080	Surgical Scrub with chlorhexidine and brushes (with at least 24 months expiration)	150	piece	100.00	15,000.00
81	MS A2 - 081	Extension tube with tri-lumen NF (needle free) with luer access valve, closed system, color coded slide clamp. Kink resistant tubing. (with at least 24 months expiration)	198	piece	100.00	19,800.00
82	MS A2 - 082	T-Tube, single use, individually packed, smooth surface, non-toxic latex, with radiopaque line, Fr.12 (with at least 24 months expiration)	10	piece	161.24	1,612.39
83	MS A2 - 083	Chlorine Test Strip, with shelf life of 18 months, with manufacturing year of 2020	700	piece	35.00	24,500.00

Item No.	ITEM CODE	ITEM DESCRIPTION	QTY.	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
84	MS A2 - 084	Disinfecting Agent for hemodialysis based on hydrogen peroxide and peroxyatic acid mixture, stabilized 5.1 and 8 II, 5 kilogram, cold sterilant, at least 5 liters per container, with at least 24 months expiration	9	container	6,000.00	54,000.00
85	MS A2 - 085	Subclavian kit inclusive of 2 pairs of Sterile Gloves 6.5, 2 packs of sterile gauze sponges 4x4x8 5's, 1 pc sterile drape, 8 pcs Chlorhexidine pad, 2pcs heplock, with at least 24 months expiration	600	piece	165.00	99,000.00
86	MS A2 - 086	Test for residual peroxide in rinse water, 100 strips per bottle, with shelf life of 18 months	1000	strips	12.00	12,000.00
87	MS A2 - 087	Thermochemical Disinfectant for heat disinfection of hemodialysis machines, each 100g of disinfectant contains 21g citric acid 1-hydrate, 5 liters per container, with at least 24 months expiration	20	container	6,000.00	120,000.00
<b>建制制</b>					<b>Grand Total</b>	16,510,256.39

Submitted By:

ARIELD. BERNARDO, MGM, RN End-user, BAC for Medical Supplies

Recommending Approval:

ALDEN C. CUYOS, MD, FPPA, IFAPA, MMHoA Chairperson, BAC for Goods CY 2022

Approved By:

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II